

Asian Research Journal of Mathematics

15(4): 1-9, 2019; Article no.ARJOM.52259 *ISSN: 2456-477X*

Hyperbolic Jacobsthal Numbers

Can Murat Dikmen 1^*

¹Department of Mathematics, Art and Science Faculty, Zonguldak Bülent Ecevit University, 67100, Zonguldak, Turkey.

Author's contribution

The sole author designed, analyzed, interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/ARJOM/2019/v15i430153 <u>Editor(s):</u> (1) Dr. Sheng Zhang, School of Mathematics and Physics, Bohai University, Jinzhou, China. <u>Reviewers:</u> (1) Hatice Kusak Samanci, Bitlis Eren University, Turkey. (2) Said Agoujil, University of Moulay Ismail, Morocco. Complete Peer review History: http://www.sdiarticle4.com/review-history/52259

> Received: 14 August 2019 Accepted: 27 October 2019 Published: 05 November 2019

Original Research Article

Abstract

In this paper, we introduce the Hyperbolic Jacobsthal numbers and we present recurrence relations, Binet's formulas, generating functions and the summation formulas for these numbers. Moreover, we investgate Lorentzian inner product for the hyperbolic Jacobsthal vectors.

Keywords: Jacobsthal numbers; hyperbolic numbers; hyperbolic jacobsthal numbers.

2010 Mathematics Subject Classification: 11B39; 11B83; 17A45; 05A15.

1 Introduction and Preliminaries

In this paper, we define Hyperbolic Jacobsthal numbers in the next section and give some properties of them. First, in this section, we present some background about Hyperbolic numbers and Jacobsthal numbers. See for example, [1], [2], [3], [4], [5], [6], [7] and [8].

Jacobs
thal sequence $\{J_n\}_{n\geq 0}$ is defined by the second-order recurrence relation

$$J_n = J_{n-1} + 2J_{n-2} \tag{1.1}$$

^{*}Corresponding author: E-mail: canmuratdikmen@beun.edu.tr;

with the initial values $J_0 = 0, J_1 = 1$. Jacobsthal numbers are

 $0, 1, 1, 3, 5, 11, 21, 43, 85, 171, 341, \dots$

Binet's formula, generating functions, Simson formula, summation formula of Jacobsthal numbers are

$$J_n = \frac{1}{3} \left(2^n - (-1)^n \right)$$
$$\sum_{n=1}^{\infty} J_n x^{n-1} = \frac{1}{1 - x - 2x^2},$$
$$J_{n+1} J_{n-1} - J_n^2 = (-1)^n 2^{n-1},$$
$$\sum_{k=0}^n J_k = \frac{1}{2} (J_{n+2} - 1)$$

respectively.

The set of hyperbolic numbers \mathbb{H} can be described as

 $\mathbb{H} = \{ z = x + hy \mid h \notin \mathbb{R}, \ h^2 = 1, x, y \in \mathbb{R} \}.$

Addition, substraction and multiplication of any two hyperbolic numbers z_1 and z_2 are defined by

 $z_1 \pm z_2 = (x_1 + hy_1) \pm (x_2 + hy_2) = (x_1 \pm x_2) + h(y_1 \pm y_2),$ $z_1 \times z_2 = (x_1 + hy_1) \times (x_2 + hy_2) = x_1x_2 + y_1y_2 + h(x_1y_2 + y_1x_2).$

and the division of two hyperbolic numbers are given by

$$\frac{z_1}{z_2} = \frac{x_1 + hy_1}{x_2 + hy_2} = \frac{\left(x_1 + hy_1\right)\left(x_2 - hy_2\right)}{\left(x_2 + hy_2\right)\left(x_2 - hy_2\right)} = \frac{x_1x_2 + y_1y_2}{x_2^2 - y_2^2} + h\frac{x_1y_2 + y_1x_2}{x_2^2 - y_2^2}$$

The hyperbolic conjugation of z = x + hy is defined by

$$\overline{z} = z^{\dagger} = x - hy.$$

Note that $\overline{\overline{z}} = z$. Note also that for any hyperbolic numbers z_1, z_2, z we have

$$\begin{aligned} \overline{z_1 + z_2} &= \overline{z_1} + \overline{z_2}, \\ \overline{z_1 \times z_2} &= \overline{z_1} \times \overline{z_2}, \\ \|z\|^2 &= z \times \overline{z} = x^2 - y^2 \end{aligned}$$

For more information on hyperbolic numbers, see for example, [9], [10], [11], [12], [13], [14] and [15].

2 Hyperbolic Jacobsthal Sequence

In [16], author defined hyperbolic Fibonacci sequence and investigated its properties. In this work we define hyperbolic Jacobsthal sequence and investigated its properties. For dual Jacobsthal sequence see [17].

The hyperbolic Jacobsthal numbers are defined by

$$\widetilde{J}_n = J_n + h J_{n+1} \tag{2.1}$$

with initial conditions $\tilde{J}_0 = h$, $\tilde{J}_1 = 1 + h$ where $h^2 = 1$. Then the hyperbolic Jacobsthal numbers are

$$h, 1+h, 1+3h, 3+5h, 5+11h, 11+21h, 21+43h, 43+85h, \ldots$$

It can be easily shown that

$$\widetilde{J}_n = \widetilde{J}_{n-1} + 2\widetilde{J}_{n-2}.$$
(2.2)

To see this, we have

$$\widetilde{J}_n = J_n + hJ_{n+1} = J_{n-1} + 2J_{n-2} + h(J_n + 2J_{n-1}) = (J_{n-1} + hJ_n) + 2(J_{n-2} + hJ_{n-1}) = \widetilde{J}_{n-1} + 2\widetilde{J}_{n-2}.$$

Now, we start to give some results starting with the following Theorem. See [17].

Theorem 2.1. If \widetilde{J}_n is a hyperbolic Jacobsthal number, then

$$\lim_{n \to \infty} \frac{\widetilde{J}_{n+1}}{\widetilde{J}_n} = 2$$

Proof. For the Jacobs thal sequence ${\cal J}_n$ we have

$$\lim_{n\to\infty}\frac{J_{n+1}}{J_n}=2.$$

Then using this limit value for the hyperbolic Jacobs thal numbers $\widetilde{J}_n,$ we obtain

$$\lim_{n \to \infty} \frac{J_{n+1}}{\tilde{J}_n} = \lim_{n \to \infty} \frac{J_{n+1} + hJ_{n+2}}{J_n + hJ_{n+1}}$$
$$= \lim_{n \to \infty} \frac{J_{n+1} + h(J_{n+1} + 2J_n)}{J_n + hJ_{n+1}}$$
$$= \lim_{n \to \infty} \frac{\frac{J_{n+1} + h(J_{n+1} + 2J_n)}{I_n + h(J_{n+1} + 2J_n)}}{1 + h\frac{J_{n+1}}{J_n}}$$
$$= \frac{2 + h(2 + 2)}{1 + 2h} = \frac{2 + 4h}{1 + 2h} = 2.$$

Next, we present Binet's formula. See [17].

Theorem 2.2. The Binet's formula for the hyperbolic Jacobsthal sequence is given as

$$\widetilde{J}_n = \frac{1}{3} \left((1+2h)2^n - (1-h)(-1)^n \right).$$
(2.3)

Proof. Using Binet's formula $J_n = \frac{1}{3} (2^n - (-1)^n)$ we see that \sim

$$\begin{aligned} \widetilde{J}_n &= J_n + h J_{n+1} \\ &= \frac{1}{3} \left(2^n - (-1)^n \right) + h \frac{1}{3} \left(2^{n+1} - (-1)^{n+1} \right) \\ &= \frac{1}{3} \left(-1 \right)^n \left(h - 1 \right) + \frac{1}{3} 2^n (1 + 2h) \\ &= \frac{1}{3} \left((1 + 2h) 2^n - (1 - h) (-1)^n \right). \end{aligned}$$

It is useful to let Binet's formula for the hyperbolic Jacobsthal sequence as follows.

Corollary 2.3. Binet's formula for the hyperbolic Jacobsthal sequence can be given as

$$\widetilde{J}_n = \frac{1}{3} (1+2h) \left(2^n + (1-h)(-1)^n\right).$$
(2.4)

Proof. Using Binet's formula for the hyperbolic Jacobsthal sequence (2.3), we see that

$$\begin{aligned} \widetilde{J}_n &= \frac{1}{3} \left((1+2h)2^n - (1-h)(-1)^n \right) = \frac{1}{3} (1+2h) \left(2^n - \left(\frac{1-h}{1+2h} \right) (-1)^n \right) \\ &= \frac{1}{3} (1+2h) \left(2^n - \left(\frac{1-h}{1-4h^2} \right) (1-2h) (-1)^n \right) \\ &= \frac{1}{3} (1+2h) \left(2^n - \left(\frac{1-2h-h+2h^2}{-3} \right) (-1)^n \right) \\ &= \frac{1}{3} (1+2h) \left(2^n + (1-h)(-1)^n \right). \end{aligned}$$

Next, we present the generating function for the hyperbolic Jacobsthal numbers. For the generating function of Jacobsthal numbers see [18], [19].

Theorem 2.4. The generating function for the hyperbolic Jacobsthal numbers is

$$\sum_{n=0}^{\infty} \tilde{J}_n x^n = \frac{h+x}{1-x-2x^2}.$$
(2.5)

Proof. Let

$$g(x) = \sum_{n=0}^{\infty} \widetilde{J}_n x^n$$

be generating function of hyperbolic Jacobsthal numbers. Then

$$(1 - x - 2x^{2})g(x) = \sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n} - x\sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n} - 2x^{2}\sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n}$$

$$= \sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n} - \sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n+1} - 2\sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n+2}$$

$$= \sum_{n=0}^{\infty} \widetilde{J}_{n}x^{n} - \sum_{n=1}^{\infty} \widetilde{J}_{n-1}x^{n} - 2\sum_{n=2}^{\infty} \widetilde{J}_{n-2}x^{n}$$

$$= (\widetilde{J}_{0} + \widetilde{J}_{1}x) - \widetilde{J}_{0}x - \sum_{n=2}^{\infty} (\widetilde{J}_{n} - \widetilde{J}_{n-1} - 2\widetilde{J}_{n-2})x^{n}$$

$$= \widetilde{J}_{0} + \widetilde{J}_{1}x - \widetilde{J}_{0}x$$

$$= \widetilde{J}_{0} + (\widetilde{J}_{1} - \widetilde{J}_{0})x.$$

Rearranging the above equation, we obtain

$$g(x) = \frac{\widetilde{J}_0 + (\widetilde{J}_1 - \widetilde{J}_0)x}{1 - x - 2x^2} = \frac{h + x}{1 - x - 2x^2}$$

since $\widetilde{J}_0 = h$, $\widetilde{J}_1 = 1 + h$.

Next, we give linear sum identitity of hyperbolic Jacobsthal numbers.

Theorem 2.5. For $n \ge 0$, we have the following formula:

$$\sum_{k=0}^{n} \widetilde{J}_{k} = \frac{1}{2} (\widetilde{J}_{n+2} - (h+1)).$$
(2.6)

Proof. The proof follows from the summing formula

$$\sum_{k=0}^{n} J_k = \frac{1}{2}(J_{n+2} - 1).$$

We now present a few special identities for the hyperbolic Jacobsthal sequence $\{\widetilde{J}_n\}$.

Theorem 2.6. (Catalan's identity) For all natural numbers n and m, the following identity holds

$$\widetilde{J}_{n+m}\widetilde{J}_{n-m} - \widetilde{J}_n^2 = \frac{1}{9} (-2)^{n-m} ((-1)^m - 2^m)^2 (1-h).$$

Proof. We use the Binet's formula (2.3)

$$\widetilde{J}_n = \frac{1}{3} \left((1+2h)2^n - (1-h)(-1)^n \right).$$

Then we have

$$\begin{split} \widetilde{J}_{n+m}\widetilde{J}_{n-m} - \widetilde{J}_n^2 &= \frac{1}{3} \left((1+2h)2^{n+m} - (1-h)(-1)^{n+m} \right) \frac{1}{3} \left((1+2h)2^{n-m} - (1-h)(-1)^{n-m} \right) \\ &- \frac{1}{9} \left((1+2h)2^n - (1-h)(-1)^n \right)^2 \\ &= -\frac{1}{9} \left(-2 \right)^{n-m} \left((-1)^m - 2^m \right)^2 \left(1+2h \right) \left(1-h \right) \\ &= -\frac{1}{9} \left(-2 \right)^{n-m} \left((-1)^m - 2^m \right)^2 \left(-2h^2 + h + 1 \right) \\ &= \frac{1}{9} \left(-2 \right)^{n-m} \left((-1)^m - 2^m \right)^2 \left(1-h \right). \end{split}$$

Note that for m = 1 in Catalan's identity, we get the Cassini's identity for the hyperbolic Jacobsthal numbers.

Corollary 2.7. (Cassini's identity) For all natural numbers n, the following identity holds

$$\widetilde{J}_{n+1}\widetilde{J}_{n-1} - \widetilde{J}_n^2 = (-2)^{n-1} (1-h).$$

The d'Ocagne's, Gelin-Cesàro's and Melham's identities can also be obtained by using (2.3) or (2.4). The next theorem presents d'Ocagne's, Gelin-Cesàro's and Melham's identities of hyperbolic Jacobsthal sequence $\{\tilde{J}_n\}$.

Theorem 2.8. Let n and m be any integers. Then the following identities are true:

(a) (d'Ocagne's identity)

$$\widetilde{J}_{m+1}\widetilde{J}_n - \widetilde{J}_m\widetilde{J}_{n+1} = \frac{1}{3}(1-h)\left((-1)^n 2^m - (-1)^m 2^n\right),$$

(b) (Gelin-Cesàro's identity)

$$\widetilde{J}_{n+2}\widetilde{J}_{n+1}\widetilde{J}_{n-1}\widetilde{J}_{n-2} - \widetilde{J}_n^4 = \frac{1}{9} \left(-2\right)^n \left(h-1\right) \left(2^{n-2} + 13\left(-2\right)^{n-2} + 1\right),$$

(c) (Melham's identity)

$$\widetilde{J}_{n+1}\widetilde{J}_{n+2}\widetilde{J}_{n+6} - \widetilde{J}_{n+3}^3 = \frac{1}{3}(h-1)(-2)^{n+2}(2^{n+1} - 5(-1)^n).$$

Proof.

$$\begin{aligned} & \left(\mathbf{a}\right) \text{ Using } \tilde{J}_n = \frac{1}{3} \left((1+2h)2^n - (1-h)(-1)^n\right) \text{ and saying } (1+2h) = a \text{ and } (1-h) = b, \text{ we have} \\ & \tilde{J}_{m+1}\tilde{J}_n - \tilde{J}_m\tilde{J}_{n+1} = \frac{1}{9} \left[\left(a2^{m+1} - b(-1)^{m+1}\right) \left(a2^n - b(-1)^n\right) - \left(a2^m - b(-1)^m\right) \left(a2^{n+1} - b(-1)^{n+1}\right) \right] \\ & = \frac{1}{9} \left[a^2 2^{m+n+1} + b^2 (-1)^{m+n+1} - ab \left((-1)^{m+1}2^n + 2^{m+1} (-1)^n \right) \right] \\ & - \frac{1}{9} \left[a^2 2^{m+n+1} + b^2 (-1)^{m+n+1} - ab \left((-1)^m 2^{n+1} + 2^m (-1)^{n+1} \right) \right] \\ & = \frac{1}{9} (1-h) \left[(-1)^{m+1}2^n + 2^{m+1} (-1)^n - (-1)^m 2^{n+1} - 2^m (-1)^{n+1} \right] \\ & = \frac{1}{9} (1-h) \left[3(-1)^n 2^m - 3(-1)^m 2^n \right] \\ & = \frac{1}{3} (1-h) \left[(-1)^n 2^m - (-1)^m 2^n \right]. \end{aligned}$$

(b) Using $\tilde{J}_n = \frac{1}{3}(1+2h)(2^n + (1-h)(-1)^n)$ and saying $2^n = a$ and $(1-h)(-1)^n = b$, we have

$$\begin{split} \tilde{J}_{n+2}\tilde{J}_{n+1}\tilde{J}_{n-1}\tilde{J}_{n-2} &- \tilde{J}_n^4 &= \frac{1}{81}(1+2h)^4 \left[(4a+b)\left(2a-b\right)\left(\frac{a}{2}-b\right)\left(\frac{a}{4}+b\right) - (a+b)^4 \right] \\ &= \frac{1}{81}\left(41+40h\right) \left[\left(8a^2-2ab-b^2\right)\left(\frac{a^2}{8}-\frac{ab}{2}-b^2\right) \right. \\ &- \left(a^4+b^4+4a^3b+6a^2b^2+4ab^3\right) \right] \\ &= \frac{1}{81}\left(41+40h\right) \left[\left(\frac{7}{4}a^3b+\frac{7}{4}ab^3-\frac{69}{8}a^2b^2\right) - \left(4a^3b+6a^2b^2+4ab^3\right) \right] \\ &= \frac{1}{81}\left(41+40h\right) \left[\frac{-9}{4}a^3b+\frac{-9}{4}ab^3-\frac{117}{8}a^2b^2 \right] \\ &= \frac{1}{9}\left(41+40h\right)\left(1-h\right)\left(-2\right)^n \left[\frac{-1}{4}\left(a^2+b^2\right)-\frac{13}{8}ab \right] \\ &= \frac{1}{9}\left(1-h\right)\left(-2\right)^n \left[\frac{-1}{4}\left(2^{2n}+2\left(1-h\right)\right)-\frac{13}{8}\left(-2\right)^n\left(1-h\right) \right] \\ &= \frac{1}{9}\left[\frac{-1}{4}\left((-2)^{3n}+4\left(1-h\right)\left(-2\right)^n-\frac{13}{4}\left(-2\right)^{2n}\left(1-h\right) \right] \\ &= \frac{1}{9}\left(-2\right)^n\left(h-1\right) \left[2^{2n-2}+13\left(-2\right)^{n-2}+1 \right]. \end{split}$$

(C) Using $\tilde{J}_n = \frac{1}{3}(1+2h)(2^n + (1-h)(-1)^n)$ and saying $2^n = a$ and $(1-h)(-1)^n = b$, we have

$$\begin{split} \tilde{J}_{n+1}\tilde{J}_{n+2}\tilde{J}_{n+6} - \tilde{J}_{n+3}^3 &= \frac{1}{27}(1+2h)^3 \left[(2a-b)\left(4a+b\right)\left(64a+b\right) - (8a-b)^3 \right] \\ &= \frac{1}{27}(13+14h) \left[\left(8a^2-2ab-b^2\right)\left(64a+b\right) - \left(512a^3-192a^2b+24ab^2-b^3\right) \right] \\ &= \frac{1}{27}(13+14h) \left[\left(-120a^2b-66ab^2\right) - \left(-192a^2b+24ab^2\right) \right] \\ &= \frac{1}{27}(13+14h) \left[72a^2b-90ab^2 \right] \\ &= \frac{1}{27}(13+14h)(1-h)(-2)^n \left[72.2^n - 90(1-h)(-1)^n \right] \\ &= \frac{1}{3}\left((h-1)\left(-2\right)^n \left(8.2^n - 10\left(1-h\right)\left(-1\right)^n\right) \\ &= \frac{1}{3}\left((h-1)\left(-2\right)^{n+2} \left(2^{n+1} - 5(-1)^n\right) \right). \end{split}$$

3 Hyperbolic Jacobsthal Vectors

Suppose that $\overrightarrow{z_1} = (x_1, x_2, x_3)$ and $\overrightarrow{z_2} = (y_1, y_2, y_3)$ are vectors in \mathbb{R}^3 . The Lorentzian inner product of z_1 and z_2 is defined as, see for example [16] and [20],

$$z_1 z_2 = \langle \vec{z_1}, \vec{z_2} \rangle_L = x_1 y_1 + x_2 y_2 - x_3 y_3.$$
(3.1)

Note that for $\overrightarrow{z} = (x_1, x_2, x_3)$ we have

$$\langle \overrightarrow{z}, \overrightarrow{z} \rangle_L = x_1^2 + x_2^2 - x_3^2$$

and

$$\|\vec{z}\|^2 = x_1^2 + x_2^2 - x_3^2.$$

The vector space \mathbb{R}^3 together with the Lorentzian inner product $\langle ., , \rangle_L$ is called Lorentzian inner product space and usually denoted by $\mathbb{L}^{2,1}$ or \mathbb{L}^3 .

A hyperbolic Jacobsthal vector is defined by

$$\overrightarrow{\widetilde{J}}_n = \left(\widetilde{J}_n, \widetilde{J}_{n+1}, \widetilde{J}_{n+2}\right).$$

From equations (2.1) and (2.2) we see that

$$\overrightarrow{\widetilde{J}}_n = \overrightarrow{J}_n + h \overrightarrow{J}_{n+1}$$

where $\overrightarrow{J}_n = (J_n, J_{n+1}, J_{n+2})$ and $\overrightarrow{J}_{n+1} = (J_{n+1}, J_{n+2}, J_{n+3})$ are Jacobsthal vectors and $h^2 = 1$.

The product of the hyperbolic Jacobsthal vector \overrightarrow{J}_n and the scalar $\lambda \in \mathbb{R}$ is given by

$$\lambda \overrightarrow{\widetilde{J}}_n = \lambda \overrightarrow{J}_n + h\lambda \overrightarrow{J}_{n+1}$$

and $\overrightarrow{\tilde{J}}_n$ and $\overrightarrow{\tilde{J}}_m$ are equal if and only if

$$J_n = J_m$$
$$J_{n+1} = J_{m+1}$$
$$J_{n+2} = J_{m+2}$$

Note that

$$\vec{J}_{0} = \left(\vec{J}_{0}, \vec{J}_{1}, \vec{J}_{2}\right) = \left(J_{0} + hJ_{1}, J_{1} + hJ_{2}, J_{2} + hJ_{3}\right) = \left(h, 1 + h, 1 + 3h\right),$$

$$\vec{J}_{1} = \left(\vec{J}_{1}, \vec{J}_{2}, \vec{J}_{3}\right) = \left(J_{1} + hJ_{2}, J_{2} + hJ_{3}, J_{3} + hJ_{4}\right) = \left(1 + h, 1 + 3h, 3 + 5h\right),$$

$$\vec{J}_{2} = \left(\vec{J}_{2}, \vec{J}_{3}, \vec{J}_{4}\right) = \left(J_{2} + hJ_{3}, J_{3} + hJ_{4}, J_{4} + hJ_{5}\right) = \left(1 + 3h, 3 + 5h, 5 + 11h\right).$$

Now, we give Lorentzian inner product of hyperbolic Jacobsthal vectors.

Theorem 3.1. Let $\overrightarrow{\tilde{J}}_n$ and $\overrightarrow{\tilde{J}}_m$ be two hyperbolic Jacobsthal vectors. The Lorentzian inner product of $\overrightarrow{\tilde{J}}_n$ and $\overrightarrow{\tilde{J}}_m$ is given by

$$\left\langle \vec{\tilde{J}}_{n}, \vec{\tilde{J}}_{m} \right\rangle_{L} = (J_{m}J_{n} + 2J_{m+1}J_{n+1} - J_{m+3}J_{n+3}) + h(J_{m+1}J_{n+2} + J_{m+2}J_{n+1} - J_{m+2}J_{n+3} - J_{m+3}J_{n+2} + J_{n}J_{m+1} + J_{m}J_{n+1}).$$
(3.2)

Proof. The Lorentzian inner product of $\overrightarrow{J}_n = (\widetilde{J}_n, \widetilde{J}_{n+1}, \widetilde{J}_{n+2})$ and $\overrightarrow{J}_m = (\widetilde{J}_m, \widetilde{J}_{m+1}, \widetilde{J}_{m+2})$ is defined by

$$\left\langle \vec{J}_{n}, \vec{J}_{m} \right\rangle_{L} = \tilde{J}_{n} \tilde{J}_{m} + \tilde{J}_{n+1} \tilde{J}_{m+1} - \tilde{J}_{n+2} \tilde{J}_{m+2}$$
$$= \left\langle \vec{J}_{n}, \vec{J}_{m} \right\rangle + \left\langle \vec{J}_{n+1}, \vec{J}_{m+1} \right\rangle + h \left[\left\langle \vec{J}_{n}, \vec{J}_{m+1} \right\rangle + \left\langle \vec{J}_{n+1}, \vec{J}_{m} \right\rangle \right]$$

7

where $\overrightarrow{J}_n = (J_n, J_{n+1}, J_{n+2})$ is Jacobsthal vector. Using (3.1), we obtain

$$\left\langle \overrightarrow{J}_{n}, \overrightarrow{J}_{m} \right\rangle = J_{n}J_{m} + J_{n+1}J_{m+1} - J_{n+2}J_{m+2},$$

$$\left\langle \overrightarrow{J}_{n+1}, \overrightarrow{J}_{m+1} \right\rangle = J_{n+1}J_{m+1} + J_{n+2}J_{m+2} - J_{n+3}J_{m+3},$$

$$\left\langle \overrightarrow{J}_{n}, \overrightarrow{J}_{m+1} \right\rangle = J_{n}J_{m+1} + J_{n+1}J_{m+2} - J_{n+2}J_{m+3},$$

$$\left\langle \overrightarrow{J}_{n+1}, \overrightarrow{J}_{m} \right\rangle = J_{n+1}J_{m} + J_{n+2}J_{m+1} - J_{n+3}J_{m+2}.$$

Using the last four equations, we have the required equation (3.2).

4 Conclusion

The hyperbolic Jacobsthal numbers are defined by

$$\widetilde{J}_n = J_n + h J_{n+1} \tag{4.1}$$

with initial conditions $\widetilde{J}_0 = h$, $\widetilde{J}_1 = 1 + h$ where $h^2 = 1$.

We introduced the hyperbolic Jacobsthal numbers and we presented recurrence relations, Binet's formulas, generating functions and the summation formulas for these numbers. Moreover, we investgated the Lorentzian inner product for the hyperbolic Jacobsthal vectors.

There are new studies on dual hyperbolic Fibonacci and Lucas numbers (see [21]), and on dual hyperbolic generalized Fibonacci numbers (see [22]) by other authors.

Acknowledgements

The author is very thankful to two anonymous reviewers and an editor, whose helpful suggestions added greatly to the quality of this paper.

Competing Interests

Author has declared that no competing interests exist.

References

- Horadam AF, Basic properties of a certain generalized sequence of numbers. Fibonacci Quarterly. 1965;3(3):161-176.
- [2] Atanassov K. Remark on Jacobsthal numbers, Part 2. Notes on Number Theory and Discrete Mathematics. 2011;17(2):37-39.
- [3] Atanassov K. Short remarks on Jacobsthal numbers. Notes on Number Theory and Discrete Mathematics. 2012;18(2):63-64.
- [4] Horadam AF. Jacobsthal representation numbers. Fibonacci Quarterly. 1996;34:40-54.
- [5] Horadam AF. Jacobsthal and Pell curves. Fibonacci Quarterly. 1988;26:79-83.
- [6] Horadam AF. Jacobsthal representation polynomials. Fibonacci Quarterly. 1997;35:137-148.

- [7] Torunbalcı Aydın F, Yüce S. A new approach to Jacobsthal quaternions. Filomat. 2017;31(18):5567-5579.
- [8] Sloane NJA. A handbook of integer sequences. Academic Press; 1973.
- [9] Catoni F, Boccaletti R, Cannata R, Catoni V, Nichelatti E, Zampatti P. The mathematics of Minkowski space-time. Birkhauser, Basel; 2008.
- [10] Gargoubi H, Kossentini S. f-algebra structure on hyperbolic Numbers. Adv. Appl. Clifford Algebr. 2016;26(4):1211-1233.
- [11] Motter AE, Rosa AF. Hyperbolic calculus. Adv. Appl. Clifford Algebr. 1998;8(1):109-128.
- [12] Jancewicz B. The extended Grassmann algebra of R3, in Clifford (Geometric) algebras with applications and engineering. Birkhauser, Boston. 1996;389-421.
- [13] Khadjiev D, Göksal Y. Applications of hyperbolic numbers to the invariant theory in twodimensional pseudo-Euclidean space. Adv. Appl. Clifford Algebr. 2016;26:645-668.
- [14] Güncan AN, Erbil Y. The q-Fibonacci hyperbolic functions, Appl. Math. Inf. Sci. 2014;8(1L):81-88.
- [15] Barreira L, Popescu LH, Valls C. Hyperbolic sequences of linear operators and evolution maps. Milan J. Math. 2016;84:203-216.
- [16] Torunbalcı Aydın F. Hyperbolic fibonacci sequence. Universal Journal of Mathematics and Applications, Cilt 2, Sayı 2. 2019;59-62.
- [17] Torunbalcı Aydın F. On generalisations of the Jacobsthal Sequence. Notes on Number Theory and Discrete Mathematics. 2018;24(1):120-135.
- [18] Horadam AF. Jacobsthal representation numbers. Fib. Quart. 1996;34:40-54.
- [19] Hogatt VE JR., Marjorie Bicknell-Johnson. Convolution arrays for jacobsthal and fibonacci polynomials. The Fibonacci Quarterly. 1978;385-402.
- [20] Ratcliffe JG. Foundations of hyperbolic manifolds. Springer-Verlag; 1994.
- [21] Cihan A, Azak AZ, Güngör MA, Tosun M. A Study on dual hyperbolic fibonacci and lucas numbers. An. St. Univ. Ovidius Constanta. 2019;27(1):35-48.
- [22] Soykan Y. On dual hyperbolic generalized fibonacci numbers. Preprints; 2019. 2019100172 DOI: 10.20944/preprints201910.0172.v1

©2019 Dikmen; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

http://www.sdiarticle 4. com/review-history/52259

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)